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and there is no misprinting, overprinting and/or any other shortcoming in it. If there is any shortcoming, intimate
the same to your room invigilator and have it changed. Before answering you must ensure that you have got correct
post code/discipline booklet. No complaint in this regard shall be entertained at alater stage.

Write with Ball Point Pen Your Name, Roll No. on this page (above); and use Ball Point Pen for filling boxes of
the Answer Sheet in the space provided and sign on the OMR Answer Sheet by Ball Point Pen and use Blue/Black
Ball Point Pen to darken the ovals.

Thisis an objective type test in which each objective question is followed by four responses seria led (A) to (D).
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Question Booklet.

All questions are compulsory.

DO NOT scribbleor dorough work or make any stray markson theAnswer Sheet. DO NOT wrinkleor fold
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Answer sheet will be processed by Electronic means. Hence, invalidation of answer sheet resulting due to folding
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Take care that you mark only one answer for each question. If more than one answer is given by you for any
question, the same will not be evaluated. Cutting/overwriting the answers are not allowed. Further question
paper isbilingual (Hindi/English). In case of any variation in Hindi version, English version will be taken as
final for evaluation purposes.

Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference
material is NOT allowed inside the examination hall.

Return OMR Answer Sheet to theinvigilator on completion of the test. Do not take OMR Answer Sheet outside the
examination room. Doing so is a punishable offence.
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Thereciprocal of Ois

@@ 1 (b) -1

© O (d) Not defined

0 ol W(Reciprocal) %’

@ 1 (&) -1

(®m) 0 (31) IR A& R aram

The reciprocal of any rational number p/q, where p and q areintegersand g# 0, is
(@ pq (b) 1

(9 O (d) alp

ey aRAT I&AT p / q T cgcohdA (Reciprocal) AT HY, ST p 3R g W IR qz20 §
(T) plg @) 1

(FM) 0 (3N alp

If y be the reciprocal of rational number x, then the reciprocal of y will be

(@ x (b) vy

(©) xy (d) y/x

gfe aR&AT F@Ear x&r cgcshH (Reciprocal)y@T,HT y T F{I,W (Reciprocal)?lTIT
(T x (3 v

() xly (B v/

Thereciprocal of —3/8* (—7/13) is

(@ 104/21 (b) -104/21

(o) 21/104 (d 21104

-3/8 * (-7/13) @I gcshd (Reciprocal) &

(T) 104/21 (&) —104/21

(&) 21/104 (&) —21/104

In apie chart, the total angle at the centre of the circleis

(& 180° (b) 360°

(o 270° (d) 90°

T& IS A1C H, Iod (Fdel) & &g 7 ol 0T §

(T) 180 f3afr (&) 360 f3afr
(@) 270 f3afr @) 90 falr
The range of the data 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 is
@ 26 (b) 30

(o 4 (d 61

THF (data)30,61,55,56,60,20,26,46,28,56 I UIH (range) &

(T) 26 & 30
(F) 41 @) 61
2

45.

46.

46.

47.

47.

48.

49,

49.

50.

50.

A o 8,000 TUY H TS T Raprsy @ller 3R 38 B 7 9 f&am| B 3@ ¢ &I 97 f&ar, ved+ o 20%
FI ATH FATAT| SIH & T FT g

(V) A 3R B T& & olH HATT gl () ABT 3fF ATH FHATCT &

(@) ABH HH TTH HAC § (@) aT g7 har ST ThaT &

Latika bought a teapot for Rs.120 and a set of cups for Rs.400. She sold teapot at a profit of 5% and
cups at aloss of 5%. The amount received by her is

(& Rs494 (b) Rs.546
(c) Rs.506 (d Rs534

IRl o 120 TIY H Th CIUIC (teapot) WIGT 3R Ul FT Teh AT 400 T9T H TWIGI 3T <Al
(teapot) 5% & o187 WY 3R &l &I A 5% o THAGTIR ST 3Heh SaRT TIed TR &

(T) T9A 494 (&) TIA 546

(&) TIA 506 (3) ¥IT 534

A jacket was sold for Rs.1,120 after allowing a discount of 20%. The marked price of the jacket is
(@ Rs 1440 (b) Rs. 1400

() Rs.960 (d) Rs.866.66

20% T P& & d1G Teh Siehe 1,120 TUF H ST I-T| Siehe T 3ifehd Hedo

(T) 39T 1440 (&) FIJ 1400

(&) TIA 960 (31) TIA 866.66

The original price of awashing machine which was bought for Rs. 13,500 inclusive of 8% VAT is
(@ Rs. 12,420 (b) Rs.14,580

(© Rs. 12,500 (d) Rs.13492

T aifrer 7T ford 8% de Wi 9 13,5009 @lter amm, f HoT AT ¢

(T) 39T 12,420 (&) TIF 14,580

(@) TIA 12,500 (3) I 13,492

40% of [100-20% of 300] isequal to

(@ 20 (b) 16

(c) 140 (d 64

[100- 300 ST 20%) FT 40% ST&X &2

(T) 20 (@) 16

(@) 140 (3N 64

Radhika bought a car for Rs.2,50,000. Next year its price decreased by 10% and further next year it
decreased by 12%. In the two years overall decrease per cent in the price of the car is

(@ 3.2% (b) 22%

(c) 20.8% (d 8%

Tf¥ehr & 2,50,000 9T F Teh HR WAL 37T a¥ TP AT 10% FH & 75 3R 39& 37T a¥
SEhT HIAT H12% I HeAT S| AT ATl H HR HT KA H Fel Tl Hal §

(T 3.2% (&) 22%

(&) 20.8% 3 8%
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40.

41.

41.

42.

42.

43.

43.

44,

45.

Tch T ﬁ,ﬂ@f ﬁg F fAdans (coordinates of the origin) gl
T) (0,4) @M (0,7)
(&) (0,0 (1) (0,5)

A six-digit number isformed by repeating athree — digit number. For example 256256, 678678, etc.
Any number of thisform isdivisible by

(@ 7 only (b) 11 only

(c) 13 only (d) 1001

T el 37hl T TEAT SR P Th S 3h T&AT 95 I8 &1 361807 & foIw 256256, 678678,
3| 30 YR T As Y gear fFanfaa gefe

(T) hael 78 (@) Faer 118

(@) Shaer 13 & (31) 1001

If the sum of digits of anumber isdivisible by three, then the number is always divisible by
@ 2 (b) 3

() 6 d 9

afe et d&ar & 37t &1 AT A & faenfaa g, ar gear gaen fasnfaa gidr §

(©) 2 (& 3

(¥) 6 (3 9

Shyama purchases a scooter costing Rs.36,450 and the rate of salestax is 9%, then the total amount paid
by her is

(@ Rs.36,490.50 (b) Rs. 39,730.50

() Rs.36,454.50 (d) Rs.33,169.50

QIUTAT & Teh The TGN ATT32,450 TUI 3R Tashl T (sales tax) T & 9% &, Al 38 c@rT
AT T TS ol AR &

(T) A 36,490.50 (&) ¥9A39,730.50

(&) FIT 36,454.50 (3Y) ¥9A33,169.50

The marked price of an articleisRs. 80 and it is sold at Rs.76, then the discount rate is
(@ 5% (b) 95%

(c 10% (d) appx. 11%

Teh I HI3ifhd Hod 80FIY & 3N g 9 76 H o< Sl g, e X ®

(T) 5% (&) 95%

(&) 10% (31) IETHIT11%

A bought atape recorder for Rs.8,000 and sold it to B. B in turn sold it to C, each earning a profit of
20%. Which of the following is true:
(& A and B earn the same profit. (b) A earns more profit than B.

(c) A earnsless profit then B. (d) Cannot be decided
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10.

10.

11.

Which of the following is not arandom experiment?

@
(b)
(©
(d)

Tossing acoin

Rolling adice

Choosing a card from a deck of 52 cards.

Throwing a stone from aroof of a building.

eaAfoi@d & & Sl @1 IS (random) IITIT &I &2

(@)

s [AFHT IoTleT

(&) TH grar Hhehell
(E1) 5271 &I Ueh G A Teh IRl el

(@) TS SARD H d T Th T2 thehelT|
What is the probability of choosing avowel from the English alphabets ‘A’ to*Z’?

(@ 2126 (b) 5/26
(c) 126 (d) 3/26
3T OTATAT 'A'E ‘7' Teh Ueh T Yolol T HATAAT FAT 2
(T) 21/26 (&) 5/26
(@) 1/26 &) 3/26
Which of the following will have 4 at the units place?
(@ 14° (b) 62°
() 27? (d) 35
afoi@a # @ 59 & 4 s TIF W gem?
(T 14’ @) 62’
@) 27 31 35
Which of the following cannot be a perfect square?
(& 841 (b) 529
(c) 198 (d) All of the above.
feafaf@d & & i @1 qot @@t a7 & whar &2
(T) 841 (&) 529
@) 198 () 3uded Fel|

A sguare board has an area of 144 square units. How long is each side of the board?

@
(©

11 units
13 units

(b)
(d)

12 units
14 units



11.

12.

12.

13.

13.

14.

14.

15.

15.

16.

16.

Teh galehR &S (board) 3T &TAhe144 T ShISTT ¢ &S (board)HhT Fcdieh [T foheiall orFell g2
(U) 11 FhrsaT

(&) 12 g

(&) 13 ghrAT

(3N 14 gepTSAT

The sum of successive odd numbers 1, 3,5,7,9,11,13and 15 is
(@ 81 (b) 64

() 49 (d 36
$ATTT fOavH TE&I3T 1,3,5,7,9,11,13 3R 15 &7 AT §
(T) 81 (@) 64

(@) 49 3 36

The solution of the equation ax+b=0is

(@ x=ab (b) x=-b
() x=-bla (d x=bla
THHOT ax+b =0T & &

() x=a/b (@ x=b
(@) x=-b/a (3) x=b/a
The value of x for which the expressions 3x — 4 and 2x + 1 become equal is
@ -3 (b) O

(© 5 d 1

x T AT forgs fIT TSI (expressions)3x - 4 3T 2x+ 1 S &
(@ -3 @M o

(F) 5 @) 1
Vaueof Sin(1/3) + S=2/5

(@ 4/5 (b) /15
() 10 (d O
AT (1/3)+S = 2/5H S &1 AT &

(T) 4/5 (&) 1/15
() 10 @) o
—(4/3) y =-3/4, theny =

@ —(3/4)° () —(4/3)°
© (3/4° (d) (4/3)°
i —(4/3)y=-3/4, A y =

(T) -(3/4)° (d) —(a/3)°
() (3/4)° &) (4/3)°

36.

36.

37.

37.

38.

38.

39.

39.

40.

If two cardboard boxes occupy 500 cubic centimeters space, then how much space is required to keep
200 such boxes?

(@ 1,00,000 cubic cm (b) 10,000 cubic cm

(c) 60,000 cubic cm (d) 50,000 cubic cm

Ife &Y Icd & T 500 G TTHET 98 B &, a 200 VF §98 WA & AT fhder S8 fir
HTALTHAT §?

(T) 1,00,000 &I THY (&) 10,000 T [T

@) 60,000 TT JHY (3) 50,000 T THY

What will be the change in the volume of a cube when its side becomes 10 times the original side?
(@ Volume becomes 1000 times. (b) Volume becomes 10 times.

(¢)  Volume becomes 100 times. (d) Volume becomes 1/1000 times.

Teh Ol o INTAT H IRATT FAT g SIT SHT 3T FHel 37T 1 10 T[T & Sw?
(T) 3T 1000 [T 8 ST B (@) AT 10 AT & AT B
() 3T 100 [T 8 ST & (31) IS 1/1000 I[AT B AT &

If the area of aface of acubeis 10 cm?, then the total surface area of the cubeis

(& 50cm? (b) 300cm?
(c) 600cm? (d 60cm?
Iie bl &I Teh HeTE (face) T &TAhel 10 JH? g, AN T T el Hclg &Thel 2
(T) 50 &P (&) 300 T
(@) 600 THI (3) 60 TH

160 m® of water isto be used to irrigate arectangular field whose areais 800 m*. What will be the
height of the water level in the field?

@ 0.3m () 0.10m

(9 02m (d) 05m

T AR &7 ST & ather 800 T9T HeX & & [Fas e & v 160 Ge7 Hex Uil &1 39ITer
T ST TIfRT | 87 & el & TR T FA1S F47 g

(V) 0.3 #HeX () 0.10 X
(@M 0.2 Hrex (3N 0.5 AX
In agraph, the coordinates of the origin are
(@ (04 (b) (0,7)
(© (0.0 (@ (05)
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32.

32.

33.

33.

34.

35.

35.

Suppose for the principal P, rate R% and time T, the simple interest is S and compound interest is C.
Consider the possibilities.

(i) C>S (i) C=S
Then

(@ only (i) iscorrect.

(iii) C<S

(b) Either (i) or (ii) is correct.

(c) Either (ii) or (iii) is correct. (d) Only (iii) is correct.

AT TSV o HAUAPIRSATST X R% IR AT T & [T, TaRor sa1er s § AR wehafg samet cRl
=T FHEARNT R TaR S|

(i) C>S (i) C=S (iii) C<S
o
(T) shael (i) TET B () ar & (i) 3 (i) TEr B

@) Tr ar i) ar (i) T gl (@) Fae (i) TET &1

The compound interest on Rs.50,000 at 4% per annum for 2 years compounded annually is
(@ Rs.4,000 (b) Rs.4,080
(c) Rs4,280 (d) Rs.4,050

50,000 ¥4I W 2 AT & [T 4%9fd a¥y T o W’%’ sgTal (compounded annually) %’

(T)  ¥9F 4,000 (&) I 4,080
(@) TAA 4,280 (31) TIF 4,050
If marked price of an article is Rs.1,200 and the discount is 12% then the selling price of the article is
(@ Rs.1,056 (b) Rs.1,344
(o0 Rsl1212 (d Rs1,188

Ife fonel o &1 3ifeha Hed 1,200 T0F § 3R P& 12% ¢ o aFq Fifaswa/feh 7o §

(T) $9A1,056 (&) I 1,344
() T 1,212 (&) TI 1,188
If 90% of x is 315 km, then thevalue of x is

(@ 325km (b) 350 km
(c) 350m (d) 325m
gfe X1 90% & 315 ey & @ X &1 AT &

(T) 325 fehell @) 350 fra
(&) 350 #HeX (@) 325 HeX

17.

17.

18

18.

19.

19.

20.

20.

21.

Arpita s present age isthrice of Shilpa. If Shilpa’ s age three years ago was x. Then Arpita s present age

Is
@ 3(x3 (b) 3x+3
(c) 3&x-9 (d) 3(x+3)

3T &1 aiAeT 37 fRedr & Al =1 § 81 3R el |rel ggel Riear &1 35 x A o 3idar
Fr adHAT 3T &

(T)  3(x3) (&) 3x+3
(@) 3x-9 (3N  3(x+3)
. The sum of three consecutive multiples of 7 is 357. Find the smallest multiple.
(@ 112 (b) 126
(c) 119 (d)y 116

7 % HAMEA dlel I0Th T AT 357 §| Fa@ BICT 0lhdlsi |

(T) 112 (&) 126
@ 119 @ 116
Simplify: (3V5-542) (45 + 32)
(@ 30-11V10 (b) 45V6-10
(c) 25-15V10 (d) 30-12V5
Tl L (3V5-5V2) (4V5+3V2)
(T) 30-11V10 (&) 45v6-10
(@) 25-15v10 (31) 30-12v5
Find the value of ain the following:
6/ (3V2-2+3)=3vV2-a"3
@ 2 (b) -2
() 3 (d) -3
AT d AT # a FH AT TSt
6/(3V2-2v3)=3v2-av3
(T 2 @M -2
(I @ -3
If three angles of a quadrilateral are each equal to 75°, the fourth angle is
(@ 150° (b) 135°
(€ 45° d 75°
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Ifg aqSt & el 0T g% 75 3ol & awraT §, o <er v § 27.  Areaof arectangle with length 4ab and breadth6b2is

(@) 150 fEafr @) 135 e (@) 24a&b° (b) 24ab®
(&) a5 fFal @ 75 f3al (© 24a? (d 24ab
For which of the following fi , al angl al? .
( ;)r WRICt ° I eIOToWIng figures, &t &ng e?b?ree;: 27. 9IS 4ab 3R iSE 6b’ F TTY TS NIAPR FH &6 &
a ectangle ite , ,
(V) 24a% (&)  24ab
(c) Trapezium (d) Rhombus @) 24ab? (31) 24ab
fArafafad & @ @l @ anpfa & @i FHor R ghre = .
@ @) e 28. 3 canbewritten as
(Q:h') HHTFT (Trapezium) (?f) W@ﬁp (Rhombus) @ & (b) 13
(c w3’ (d) —2/3
Which of the following is correct? 28. 32 & e ¥ H for@r o gehar §
(@ (a—b)’=&+2ab—b’ (b) (a—b)’=a—2ab+b? (@ 32 (CNEVES
() (a—b)?=d&-b’ (d) (a+b)?>=a’+2ab—b? (€ 1/3 @ -23
S O ST @1 HWEr 29. Thevaueof V4" is
(T) (a-b)* =a” + 2ab— b’ (&) (a-b)’ = a” -2ab +b’ @@ 16 (b) 8
(&) (a-b)*=a’ — b’ (B) (a+b)’ = a +2ab — b (© 116 @ 18
The sum of —7pg and 2pq is 29. 1/472 T AT §
(& —9pq (b) 9pq (@) 16 (@M 8
(© 5pq (d) -5pq (@) 1/16 &) 1/8
~7pq 3T 2pq T AT & 30. A truck needs 54 litres of diesel for covering a distance of 297 km. The diesel required by the truck to
(T) —9pq (&)  9pq cover adistance of 550 km is
(@) Spa () —Spa 100 it b) 50lit
If we subtract —3x° y? from x%y?, then we get @ | r.es (b) I e
@ —4ly? b) 24 (c) 25.16litres (d) 25litres
© 22y A A2 30. 297 TRl &1 g0t AT 9T F AT Th goh HT 54 WX TT A T g1 550 AT H gl A A"
T Ay B 5 o ot N F & AU oo ganr fardel Stofel T 3MaeThar §?
2 Z ! ' &t ) (T) 100 @l (&) 50 X
;Zﬁ?) ; 3/ ;a-; ;)gbjz (@) 25.16 oleX @) 25 WX
y
Product of the following monomials 4p, 703, -7pq s 31. 100 persons had food provision for 24 days. If 20 persons |eft the place, the provision will last for
(@ 196 pq’ | éb) 196 pq* (@ 30days (b) 96/5 days
© —196 pef @ 196 pp (o) 120days (d) 40days
S (@ T ¥ ) 4, 703, -7pq T ¥ 31. 100 S9N & 9T 24 AT & O @ &7 YraearT ATl I 20 ATFAAT o S8 Olal, df Tt Hl
P A% TIPAT S grauTe fohdet et & faw greme?
(@ 196 pq* @) 196 pq* (@) 30 foet @) 96/5 e



